= - L
11 o|5to] At Foll A 3 S W dls ol U AI7F | 4. F Ao A= {2,4,6}, B={2,6,9} ol tiste] (AN
2949 P AT T W), ohg F &2 AL BT | B) C X C (AUB) € W& AT X o A4E
TEH? T-shoiet.
®2¢A @ 5€cA ®7¢A4A
@ 10eA ® 11¢ A
5. % A% A, Bell Wiste] A ¢ B, n(4) =

AT} 2

o

o

<o

r

A

ik

o] o}

rt
Y,
rlo

~

Mo

@ {2, 4, 6, 8, 10}
@ {10, 8, 6, 4, 2}

® {afo 108TH e B4
@ {z|z= 10 o|5}2] B4

® {z|o= 11ETE 22 29] v}

14, n(B) =31¥ W, n(AU B) —n(AN B) 9] 327

@ 3 @ 7 ® 12 @ 17 ® 22

A A= {olot 10015k B4} o) FEAT FollA
3 9] OB B EFSHE FEYG A4S Fotol
e

AR A= (o] 0= 4 <x <89 AR5} ] BB

FolA 94 A7t 3 A REATE] A4S Pt

iz},




o
iR
)
N
I
—
8
8
re
[\~
o
-9,
oli
=i
1o
D
1o
=
4
"
)
=
oli
=i
£

12444 U o = F24 A, Bl Hstol A-B=o

A A o e REAGS] Y40l &-& 35 A7 A, A={1, 2, 3, 6} o|ztH & B =2 gux] k2
27

O 122 @ 144 3 166
® B={1, 2, 3,6, 8

@ 188 ® 210 { }

@ B=1{1,2 3,6, 1, 8}
® B=1{1,2 3, 4,6, 7, 8

o Hhs}he] @ B={1,2, 3,5 7 8}

10.5h22 A A = {z | 2 20 7|9He] &5}
Y4 0] Tt AFEA O A5 vh= A et 22? ® B={1,2, 3,6, 17 89}
@ 5, 31 @ 6, 63 ® 7, 127
@ 8, 255 ® 9, 511

13. a2 Aol ofd A& Aol HE= Ads] 13l
Aolch, % 1A AL RE Bajal,
11.0h3 FolA &2 AS B5F 1=2W?
® AnB=A°]" n(A) <n(B)
@ AnB =g °"H n(AUB) =n(A) +n(B)
®A-B=poldA=B 141 o4 100 7FA S A
Aas FAA 4 -
® AUB=BOolMB-4=0 {zze29 9%}, B = p -
L 2~ _
® ANBe= Ao n(ANB) =0 {zle=selvlsr), ¢ =

d

{z |z 59 W5} € o, oh=
Hl tro]o] I sio] A H BEo
&35tE Y49 FE Foto=t

15.% A A=1{2, 4, 6, 8, 10}, B=1{2, 4, 8} ol tf
St X —A =2, n(XNB)=1%& WEoh= Yok X
o] /& FShofet.




